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=] Xg | KB | KB |B E| pH [FILHY BE | ZFE |[Eth| #&% £ w =
& BB | 11> H
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 29.0 15.8 0.8/ 7.62] 39.5| 36.9 149 5.7] 0.03] <0.02
2 E 24.4] 15.4 1.0 7.54
3 i 29.2| 15.8 0.3] 7.62
4 & 30.9] 16.0 0.8 7.61
5 i 33.2| 15.8 0.7] 7.67
6 & 31.2| 16.1 0.6/ 7.64
7 i 29.6/ 15.5 0.8/ 7.75
8 i 30.0f 15.9 0.7 7.63
9 = 28.0 15.8 0.6/ 7.62
10 £ 30.7| 15.4 0.7 7.80
11 = 29.5| 16.0 0.8 7.67
12 [55] 24.5| 15.4 0.5/ 7.53
13 i 26.8/ 15.5 0.6/ 7.68
14 £ 26.0f 15.5 0.7 17.57
15 = 29.5| 16.0 0.7] 7.54
16 [55] 23.2] 17.1 20.3| 7.50[ 36.8] 35.9 157 4.8/ 0.8 0.04
17 = 25.7 17.0 10.0[ 7.61
18 & 31.0/ 16.0 0.8 7.67
19 i 28.0/ 16.2 0.7 7.64
20 i 30.5| 16.1 0.6/ 7.66
21 i 33.00 16.7 0.3] 7.70
22 & 30.5| 16.0 0.7] 7.66
23 i 30.8/ 16.1 0.5/ 7.68
24 & 31.0/ 16.3 0.9 7.55
25 i 28.2| 17.0 0.5 7.57
26 & 29.3] 15.9 0.5/ 7.63
217 = 30.8 16.0 0.4 7.62
28 & 31.3] 15.5 0.6/ 7.66
29 & 35.3| 16.2 0.6/ 7.62
30 & 34.2| 15.8 0.4 7.60
31 & 31.8/ 16.7 0.5/ 7.82
Ty 29.6 | 16.0 1.6 | 7.63| 38.2| 36.4 153 5.3 | 0.43 | <0.02
4= 35.3 | 17.1 20.3 | 7.82| 39.5| 36.9 157 57| 0.82| 0.04
=IE 23.2 | 15.4 0.3 | 7.50| 36.8| 35.9 149 48| 0.03| <0.02




